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The exam is a take- home exam, and is designed to be solved based on the material studied during the course and the required reading materials
THE EXAM SHOULD BE PRINTED, TIMES NEW ROMAN 12 FONT, LINE SPACING DOUBLE. THE SPACE RECOMMENDED FOR THE COMPLETE EXAM IS 2 PAGES, AND IT IS NOT TO EXCEED 2.5 PAGES. IN ANY CASE THERE SHOULD BE NO MORE THAN 850 WORDS.
EXTREMELY IMPORTANT: EXCEEDING THE SPACE LIMIT WILL RESULT IN REDUCTION OF THE EXAM'S GRADE AND IN NOT READING THE EXCEEDING TEXT.
Please ignore any real life facts about the following case and only analyze according to the facts given here:
1. In Israel there is one refinery, BZ who sells the refined gasoline to four gasoline companies: P, D, S and A. There is no import of refined gasoline and BZ’s rates are not regulated. Assume that each gasoline company sells gasoline to consumers through gas stations owned by the gasoline company and that each gas station in Israel sells the same amount of gasoline to consumers. 35% of the stations are owned by P, 25% by D, 20% by S and 20% by A. D also owns shopping malls. 60% of D’s assets are its shopping malls and 40% are its gas stations. Each gasoline company has the same cost structure and most consumers are households. S wants to buy D’s gas stations. What are the competitive effects of this and what are the antitrust implications?
Solution

Is this a merger? It looks like it is because S is buying the majority of D’s assets in a relevant market, even though it is not the majority of total assets.
Does the merger pass the second filter? It doesn’t pass the market share or merger with a monopoly filter but it might pass the turnover filter

If it passed these two filters it must be notified to the director and he will conduct an economic analysis of the probable harm to competition:

All firms are substantial ones and they are few so that a reduction to even less firms could raise prices due to unilateral effects.
There also could be coordinated effects, e.g., if S is the industry maverick, due to its small market share and the fact that that all firms’ costs are the same. But on the other hand A could be a remaining maverick for the same reason, leaving no coordinated effects. Coordination problems will also be weaker.

On the other hand, before the merger there may not have been collusion so that BZ’s profits were from the high wholesale price, causing retain prices to be high too, and after there may be collusion, enabling BZ and the gasoline companies to reach a franchise agreement making wholesale prices equal to BZ’s marginal cost and reducing the retail price and the double margin. Therefore, it is not obvious that enabling collusion in the gasoline market is so bad after all.

2. Now suppose that facts are as in question 1 but apart from BZ there is a second refinery PZ, which is owned by P and sells all of its capacity to P. Also, suppose that P sent a letter to its business customers with large car fleets and in this letter P had promised to charge the lowest prices in the market and had offered a free car to any such customer showing a lower price than P’s. What are the competitive effects of this and what are the antitrust implications?
Solution

P’s practice resembles price matching, and this makes P’s rivals less eager to price-cut. The free care exacerbates this. But this will facilitate collusion only if P’s rivals, or some or one of them, is the industry maverick.

Since PZ sells all of its capacity to P BZ is a monopoly vis a vis the other gasoline companies other than P. On the other hand P buys the refined gasoline for marginal costs. Hence P could be the maverick, due to its low marginal cost, despite its high market share. If P is the maverick the price matching policy will not facilitate collusion.
On the other hand, if the higher market share of P is stronger than P’s relative efficiency, so that some firm other than P is the maverick, such as S or A, then the practice could facilitate collusion.

It is a vertical restraint between P and its large car fleets, who conduct business, and therefore it might be a restraint of trade.

Since it is a vertical restraint, according to Tirkel in Excetel and Gilo only section 2(a) applies so it would be illegal only if it might harm competition-see analysis above. On the other hand, according to Naor in Excetel, it is a restraint according to section 2(b)(1) regardless of the harm to competition, but still could be “saved” if the harm to competition is minor according to the block exemption for minor importance.
